FLANGE LIFTER

SOFLV50

30 55
40
20 24125
(V7T R)
8 8 8

o
N
o |25 | 28
10 o
SR
8
8
I~ kIS
o
8%
TS
3
No. B " W wE No. % ¥R w W wE
1\ 5= 1 | Castlron 5 | A7UVY 1 | TF35-150
2 | AZ1REY 1 | SO#50S20C 6 | ANANERILE 2 | M12x40
3 | U7~JOovy 1 | Steel 7 | RBRERIVE 1 | M8x20
4 | AbwN 1 | Steel 8 | /vy 2 | $8x30

311

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

SOFLV 50
‘ Catalog No. H S ‘—‘ Option
SOFLV 50 —N12
Ord
Option N12 T= G0y T TREPIHTICER LE T,
W7 itk

50 TF35-150 138 160 88 810

Q) 75 vuosmssap 2088,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

312



313

FLANGE LIFTER

SOFLV80

\Z"i;
o
=
3

S
2o

90
60
€&3)
ol =g
80
120
150

30

/®©

260

No. % W ® WHEwE No. % W w wHEwE
1\ 5= 1 | Castlron 6 | ANAERERILE 2 | M12x40

2 | AZ1REY 1 | SO#50S20C 7 | RBRERIVS 1 | M8x20

3 | U7NJOvy 1 | Steel 8 | JvoEY 2 | $8x40

4 | ZARwIN 1 | Steel 9 |OvyEY 1 | SS400

5 | RTUVY 1 | TF40-250 10 | RARFRILE 1 | M10x16

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

SOFLV 80
‘ Catalog No. ‘ ‘ S ‘ - ‘ Option
SOFLV 80 —N12
Ord
Option N12 T=2 G0y TTFREI2HTICERE L X T,
BATV Ttk

80 TF40-250 230 200 150 1020

Q) 75 vuosmssap 2088,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

314



329

LIFTBLOCK-REARGAUGE-ADVANCEPIN

5 C5

(C
A\ -~

=

30

55

o S
”TL':FH (HE) SKa

)
©
FLRG
L
20 32
15 24
= 2 — A9
eEH 1 RF e 94#‘;“
ENEN | O Q
NS Kso“ :
7 ! ol
% el (HE) S45C
FLPPA

L1

¢d

(#E) S45C
L FHREBEA LI

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

e T7hT7Ovy

LFTB

‘ Catalog No. H
LFTB 50

Order
7=
FLRG

I!I ‘CatalogNo.H w ‘—‘ L ‘
FLRG 45 — 55

Order
40~ 60 M8x35
70~100 M8x55 40
FLPPA 30 50 - 60 M12x50 25
35 70~100 M12x70 13 20 45
110~150 M12x90 65
m ‘CatalogNo.H D ‘—‘ L ‘
FLPPA 30 — 100
Order
TE>EVTRN OV DAEDE
40~100
FLPPA 50~150 LFTBB
35 50~150 75 42

330

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.





